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SOCIAL MEDICINE AND COMMUNITY HEALTH
PAPER—-1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The burden of disease is best represented by :
(A) Infant mortality rate (B) DALY'S
(C) PQLI (D) Case fatality rate

2.  InIndia the highest IMR is in the State of :

(A) Kerala (B) Maharashtra
(C) Bihar (D) Orissa
3.  Shorter the incubation period in Tetanus the prognosis is :
(A) Better (B)  Excellent
(C) Bad (D) Unaffected
4.  First documented small pox vaccine was performed by :
(A) Edward Jenner (B) Robert Koch
(C) Louis Pasteur (D) John Snow
5.  Prevalence of a disease affects :
(A) Sensitivity (B) Specificity
(C) Predictive value (D) Relative risk
6.  All the following conditions have healthy carriers except :
(A) Polio myelitis (B) Cholera
(C) Diphtheria (D) Whooping cough
7.  Chicken pox can be severe in :
(A) Infants (B) Children
(C) Adolescents (D) Adults
8.  All the followings are true regarding Rabies except :

(A) Complains pain on tingling at the site of bite
(B) Aerofobia is present
(C) Increased reflexes
(D) Pupillary constriction

9.  The five year survival rate for carcinoma in situ of cervix is :
(A) 50% (B) 65% (©) 90% (D) 100%
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10. Country with highest accident rate is :
(A) Pakistan (B) India (C) Japan (D) USA

11. Richest source of cholesterol is :
(A) Egg (B) Hydrogeneted oil
(C) Cheese (D) Butter

12. The most common cancer reported in India is :
(A) Ca cervix (B) Calung
(C) Ca oral cavity (D) Ca breast

13. Noise induced hearing loss shows characteristic dip at :
(A) 3000 Hz (B) 3500 Hz (C) 4000 Hz (D) 4500 Hz

14. Organism responsible for toxin mediated food poisoning is :
(A) Bacillus anthracis (B) Salmonella species
(C) Staphyllo-Coccus aureus (D) Campylobactes jejuni

15. The first case of AIDS in India was confirmed in :
(A) 1982 (B) 1984 (C) 1986 (D) 1988

16. The current global strategy for Malaria control is called :
(A) Modified plan of operation (B) Malaria eradication programme
(C) Malaria control programme (D) Roll back malaria

17. Mite causes :
(A) Scabies (B) Relapsing fever
(©) KFD (D) Human babesiosis

18. The most populous State in India is :
(A) Uttar Pradesh (B) Bihar
(C) Madhya Pradesh (D) Kerala

19. The time interval between entry of an infectious agent into host and the onset of
symptoms is called :
(A) Communicable period (B) Incubation period
(C) Decubation period (D) Preinfectious period

20. Under the factories act a canteen has to be provided in a factory if number of employees
exceed :

(A) 150 (B) 250 (C) 350 (D) 450

21. Low birth weight means a weight less than :
(A) 28kg (B) 27 kg (C) 25kg (D) 23 kg
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12.

13.

14.
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17.

18.
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20.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

Note

World Population Day is on :
(A) 1stJuly (B) 11th July (C) 21st July (D) 3lst July

Percentage of Blindness due to cataract in India is :
(A) 55 (B) 60 (C 75 (D) 80

Case control study gives information about all except :
(A) Incidence of disease (B) Odd’s ratio
(C) Relative risk (D) Risk factors

The area under normal distribution curve for S.D of 2 is :
(A) 68% (B) 95% (C) 97.5% (D) 100%

The net protein utilisation of Rice is :
(A) 20% (B) 40% (©) 60% (D) 80%

Egg has all vitamins except :
(A) By (B)  Bg © C (D) E

The ‘Baby Friendly Hospital intiative advocates initiation breast feeding after birth
within :
(A) One hour (B) Two hours (C) Four hours (D) Eight hours

Coh units is used to express air pollution caused by :
(A) Sulphur dioxide (B) Carbon monoxide
(C) Smoke (D) Oxidants

When the mother is suffering from syphilis the infection of the foetus does not occur
before :

(A) 3rd month (B) 4th month (C) 6th month (D) 8th month

: Instructions for answering question no. 31 to 38 :

The following eight items consist of two statements, one labelled the “Assertion A”
and the other labelled the “Reason R”. You are to examine these two statements
carefully and decide if the Assertion A and the Reason R are individually true and if
so, whether the reason is a correct explanation of the Assertion. Select your answers
to these items using the codes given below and mark your answer sheet accordingly.
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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31.

32.

33.

34.

35.

36.

37.

38.

39.

Assertion (A)
Reason (R)
Assertion (A)
Reason (R)
Assertion (A)

Reason (R)

Assertion (A)
Reason (R)
Assertion (A)

Reason (R)
Assertion (A)
Reason (R)
Assertion (A)

Reason (R)

Assertion (A)
Reason (R)

Most of the protective antibodies against merozoites are of IGM

type.
As complement system is also involved.

Cell mediated immunity plays an important role in protection
against Malaria.
As there is no humoral immunity against Malaria.

An everwidening demographic gap has resulted in population
explosion in India.

Death rate in India has declined more rapidly than the birth
rate.

Carcinoma cervix is more common in women whose husband
has been using condom as the contraceptive.
Condom is always not effective in preventing pregnancy.

With some strains of P Vivax the incubation period may be
delayed for as long as 9 months.

With any species of Malaria, in a patient taking suppressive
antimalarial drugs the incubation period may be delayed.

The purpose of antitoxin in a combined active and passive
immunization for tetanus is to provide immeidate temporary
protection.

The purpose of toxoid is for long lasting protection.

Hepatitis B is essentially a blood borne infection.
As Hepatitis B is transmitted by only infected blood and blood
products.

The fundamental measure of risk is incidence.
As the incidence of disease is infact the absolute risk of
contracting it.

Match List-I (mode of inheritance) with List-II (genetic disease) and select the correct
answer using the codes given below the lists :

List-11
(mode of inheritance) (genetic disease)
(a) Autosomal dominant (i) Phenylketonuria
(b) Autosomal recessive (i) Duchenne type of muscular dystrophy
(c) Recessive sex linked (i) Vitamin D resistant rickets
(d) Dominant X linked (iv) Poly cystic kidney
Code : (a) (c) (d)
(A) (iv) (i) (i)
(B) (iv) (i) (i)
(©) (i) (iv) ()
(D) (i) (i) (i)
8
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31.

32.

33.

34.

35.

36.

37.

38.

39.

hdT (A)

T (R)

HAT (A)
HIT (R)

T (A)
HEUT (R)

H (A)
AT (R)
T (A)
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T (A)
HETT (R)

T (A)
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HAT (A)
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(A) (iv) (@) (ii) (iii)
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©) (i) (i) (iv) (i)
(D) (i)  (iv) (i) (i)
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40. Match List-I (cause) with List-II (consequence) and select the correct answer using

the codes given below the lists :

List-I

(cause)
(a) Inadequate Lighting
(b)  Excessive sound
(c)  Excessive vibration
(d) High pressure
Code: (a) (b)
(A) (i) ()
(B) (i) ()
(©) (iv) (i)
(D) (i) (i

List-1I

(consequence)
(i) Lack of concentration and irritability
(i) Raynaud’s disease
(iii) Miner’s nystagmus
(iv) Caisson’s disease
(c) (d)
(iv) (ii)
(ii) (iv)
(@) (i)
() (iv)

41. Match List-I (type of mosquito) with List-II (disease) and select the correct answer
using the codes given below the lists :

List-1

(type of mosquito)
(a) Culex
(b) Aedes
(c) Anopheles
(d) Mansonoides
Code : (a) (b)
(A) (i) (iv)
(B) (iv) (i)
(©) (i) (i
(D) (i) ()

List-I1
(disease)
(i) Malayan filariasis
(i) Malaria
(iii) Japanese encephalitis
(iv) Dengue
(c) (d)
(i) (1)
(i) (1)
(iv) (i)
(ii) (iv)

42. Match List-I (arthropod) with List-II (disease) and select the correct answer using the

codes given below the lists :

List-I

(arthropod)
(a) Mosquito (i)
(b) Sandfly (ii)
(c) Louse (iii)
(d) Rat flea (iv)
Code : (a) (b)
(A) (i) (iv)
(B) (i ()
(©) (i) (i)
(D) (i) (i)

List-II
(disease transmitted)
Kala azar
Malaria
Hymenolepis diminuta
Epidemic typhus

(c) (d)

(i) (i)

(iv) (i)

(iv) (i)

(i) (iv)
10
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43. Match List-I (Epidemiologist) with List-II (Disease) and select the correct answer using
the codes given below the lists :

List-I List-11
(Epidemiologist) (Disease)

(@) John Snow (i) Cholera
(b) Robert Koch (i) Rabies
() Luois Pasteur (iii) Leprosy
(d) Hensen (iv) Tuberculosis
Code (a) (b) (c) (d)
(A) () (iv) (i) (i)
(B) (i) @) (iif) (iv)
(© (i) (1) (@) (iv)
(D) () (iv) (i) (i)

44. Match List-I (diseases) with List-II (toxins) and select the correct answer using the
codes given below the lists :

List-1 List-11I
(Diseases) (Toxins)
(a) Epidemic dropsy (i)  Aflotoxins
(b) Neurolathyrism (i) Pyrrolizidine alkaloid
(c) Hepatic carcinoma (i) Sanguinarine
(d) Endemic ascities (iv) Beta-oxalyl-amino-alanine
Code : (a) (b) (c) (d)
(A) (i) (iv) (i ()
(B) (i) (iv) (i) (i)
(©) (iv) (i) (i ()
(D) (iv) (i) (i) (i)

45. Identify in correct chronological order the development of medical systems in the
world.

(A) Indian medicine, Chinese medicine, Greek medicine, Roman medicine

(B) Chinese medicine, Indian medicine, Greek medicine, Roman medicine
(C) Greek medicine, Chinese medicine, Roman medicine, Indian medicine
(D) Roman medicine, Greek medicine, Indian medicine, Chinese medicine
46. Select the food items in descending order according to their Vitamin - C contents.
(A) Lime, orange, apple, guava (B) Orange, lime, guava, apple
(C) Lime, guava, apple, orange (D) Guava, lime, orange, apple
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45.  fos@ # foemfad fafswa vgfd @& 9 1 g |

>

C

o~ o~ o~ o~

o

)
)

) uRdra et =i fafea, e fafswan, AT fafea
B) < fafere, wrdta fafera, e fafsramn, A fafera |
Ter Tafcrea, == fafean, I fafean, wrda fafema |
I Tt e fafwa, wrd fafswan, =i+ fafer |

46,  ifta foafi () # fedifen ok  oFER 90 -

(A) g, dau, §E, TS
(Q) g, omER, ¥¥, ¥
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47. Select the chronological order of the appointment of following committees for Health

Planning in India.

(A) Mudliar committee, Mukherji committee, Kartar Singh committee, Bhore
committee

(B) Kartar Singh committee, Bhore committee, Mudliar committee, Mukherji
committee

(C) Bhore committee, Mudliar committee, Mukherji committee, Kartar Singh
comimittee

(D) Mukherji committee, Bhore committee, Mudliar committee, Kartar Singh
committee

48. Select the ascending order of the diseases according to their averages incubation period:
(A) Measles, chicken pox, leprosy, cholera
(B) Cholera, measles, chicken pox, leprosy
(C) Chicken pox, leprosy, cholera, measles
(D) Leprosy, chicken pox, measles, cholera

Note : Read the paragraph below for the question number 49 and 50 and answer the
questions that follow based on understanding of the passage :

A Blood Bank Medical Officer wishes to screen for HIV positive persons. Although
his primary responsibility is to the patients who are recipients of the blood, he also
decides to inform blood donors after appropriate counselling if they are infected with
this disease. An ‘ELIZA’ test is used within a known sensitivity of 99.9%, specificity
of 96.9%, positive predictive value of 93.2% and negative predictive value of 99.7%.

49. While making a choice of the test for testing HIV/AIDS for blood transfusion service,
if it is not feasible to use a test which is both highly sensitive and highly specific, how
should the Blood Bank, test the donated Blood ?

(A) With a very sensitive test only

(B) With a very specific test only

(C) With a very sensitive test initially before blood is sent out to be transfused, and
then with a specific test before informing the donor

(D) with a very specific test initially before blood is sent out to be transfused and
then with a very sensitive test before informing the donor.

50. Which of the characteristics of the screening test mentioned in the above paragraph
permits to reassure a person who is worried that negative HIV test result informed to
him may infact be an error ?

(A) The sensitivity of the test
(B) The specificity of the test
(C) The positive predictive value of the test
(D) The negative predictive value of the test

-00o0-
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47. ¥R H o Asti & fod e afafat ot 9@ o g
(A)  TRIFCR HH, @ HH, HER Hg HH, IR HH |
(B) R g S, R FHS, eI i), TS hHHdl |
(C) AR FHHS, HRIOER HHS, TETS S, HAR 48 HHd |
(D) GG HH, YR HH, IR HHdl, HER 4§68 FHH |

48. e fufde & AR srf<n ot # I & gfe -
(A) Ty, fafe i, $8 3, &)
(B)  Tn, Wy, fafer ufed, $8 I
(C)  fafe i, F8 I, &, W |
(D) FB I, fafew uied, e, &

TIT: T 49 3R 50 F ford S fAEferaa SR (WHTE) @ UlEd SR §9% SR W SW
e

Teh <78 Sioh o Tefehea el W=.3TE. o, disifed @i o1 Il o1 =Tedl ©, et SHeh!
T frer ART o1 o ST U1 € | ST5s! OX WHe o oG O Qarstl ol o off
for o9 3@ UG | Ghfad 1 99.9% A A=ifefad & a3 TeisT e fear smar g1

TARRES oi® 96.9% diSifed Weawid ae 3 93.2% R fed Ufewiea o oh
99.7%.

49. SEF W HWHAV H TH.AEA/UgH * fod Sa w I w1 M 1 SR S et

Teifadt oI Tdfthes T =& & A1 =oTs Sk T Qe o1 o o6y S ol § |

(A) haa 3fq af-afefadt gdam g

(B) hael WEfHREE wdarr g

(C) v H Aesifea wdem e ¥ Ted iR o § wifafte wler wa erel |
e |

(D) YRe H Wfafther wlemr goes ¥ Teat iR oy o Sfafed wdieyor & < ol vge
¥ FaH @ fod

50. 3 oTgese B B o fadar wfte ¥ w safea s Hfad R, 39 9 gfed st a%
T, 3T 3. TehIeHeh § )11 98 aread | o g |
(A) Tderor =t gfafefad
(B) Hd& hl wfafefad
(C) & & FRNHE Wefad aeg
(D) & & TRERHS Nefard aeg

-00o0-
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